
 
Irbid Company produces a single product with a current 
selling price of $160. Variable costs are 75% of the selling 
price, and fixed costs per month average $5,180. 
Management is considering increasing the selling price to 
$180 per unit. Assume that the variable costs of the product 
and the monthly fixed costs will not change as a result of 
the proposed increase in selling price, at the proposed 
increased selling price of $180 per unit, what dollar volume 
of sales per month is required to break even?   

٪ 75دينار للوحدة. تبلغ التكاليف المتغيرة  160تنتج شركة إربد منتجا وحيدًا وتبيعه بسعر حالي 

دينار. تدرس إدارة الشركة زيادة  5,180معدل التكاليف الثابتة في الشهر  من سعر البيع، ويبلغ 

ف الثابتة الشهرية دينار لكل وحدة، بحيث ان التكاليف المتغيرة للمنتج والتكالي 180سعر البيع إلى 

 لن تتغير نتيجة للزيادة المقترحة في سعر البيع.

دينار لكل وحدة، ما هو حجم المبيعات الشهرية بالدينار  180في ظل سعر البيع المقترح البالغ 

 المطلوب لتحقيق التعادل ؟

 $15,556. 

 $14,400. 

 $13,440. 

 $14,940 

 

 

 
Inventory is reported in the financial statements at 

 يتم عرض قيمة المخزون في القوائم المالية وفقا لـ:

 cost. التكلفة 

 net realizable value. صافي القيمة القابلة للتحقق. 

 the higher-of-cost-or-net realizable value.  التكلفة او

 صافي القيمة القابلة للتحقق ايهما اكثر

 the lower-of-cost-or-net realizable value.  التكلفة او صافي

 القيمة القابلة للتحقق ايهما اقل

 



Shaw Company has the following account balances: 

Receivables                            $100,000 

Inventory                                  150,000 

Land                                         100,000 

Building – net                          250,000 

Liabilities                                100,000 

Total Equity                            500,000 

  

Shaw's Land has a fair value of $200,000, while its Building 
has a fair value of $300,000. Shaw's Liabilities have a fair 
value of $75,000. 

 Brooks company acquires Shaw Company on December 31, 
by issuing 5,000 shares of $5 par value common stock 
valued at $150 per share. Direct combination costs of 
$20,000 are paid to third parties and Brooks Company has 
estimated a $40,000 contingent performance liability. In the 
financial statements prepared immediately after the 
business combination, what is the amount of Goodwill using 
the acquisition method? 

  

 الحسابات التالية متعلقة بشركة عمان

  

 $100,000               ذمم مدينة

 150,000                  بضاعة

 100,000                  اراضي

 250,000         صافي –مباني 

 100,000               المطلوبات



 500,000  مجموع حقوق الملكية

  

$. بينما قدرت 300,000$ و المباني بمبلغ 200,000قدرت القيمة العادلة للاراضي بمبلغ 

 $.75,000القيمة العادلة للمطلوبات بمبلغ 

$( من اسهم شركة عمان 5سهم ) القيمة الاسمية للسهم  5,000اشترت شركة الامل  31/12في 

ليف المباشرة والمتعلق باتمام عملية $ بذلك التاريخ. بلغت التكا150  و بلغت قيمة السهم الواحد

$ تم دفعها لطرف ثالث كما قدرت شركة الامل الالتزامات الطارئة المتعلقة 20,000  الاستحواذ

$. ما مقدار الشهرة التي ستظهر في القوائم المالية الموحدة بعد التملك 40,000بلاداء بمبلغ 

 مباشرة ) حسب طريقة الاستحواذ(؟

 75,000 

 100,000 

 95,000 

 $115,000 

 


